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QUESTION 1
Which of the following statements is correct on workflow events?

A. A predefined (or file-wait) Event Wait task waits for a file to appear at the specified location. As soon as the file
appears, the event succeeds and the file can be processed by the subsequent mapping

B. A user-defined event can be created a-d raised in one workflow and then used In another

C. A predefined (or file-wait) Event Wait waits for a file to appear at the specified location. As soon as the file appears, it
is deleted and the subsequent task will start.

D. A user-defined event can be created in either the Event Wait or Event Raise task

Correct Answer: C

QUESTION 2

Which of the following techniques could be used to filter data read from a flat file source?
A. Create a valid condition in the Filter attribute of the flat file\\'s Source Qualifier

B. Place a Filter transformation directly after the flat file\\'s Source Qualifier

C. An Expression transformation with an output port\\'s expression defined to filter records
D. An Expression transformation with all of the output port\\'s default values set to blank

Correct Answer: B

QUESTION 3

Assuming that the Master Pipeline has 5 fields, two of which are part of the join condition and that all fields are
connected downstream to the next transformation, how many fields are in the index and data cache files?

A. 5 fields are in the index cache and 3 are in the data cache
B. 3 fields are in the index cache and 2 fields are in the data cache
C. 2 fields are in the index cache and 3 fields are in the data cache
D. 2 fields are in the index and 5 fields are in the data cache

Correct Answer: A

QUESTION 4

Which of the following is not a Transaction Control Variable?
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A. TC_CONTINUE_TRANSCTION
B. TC_COMMIT_TRANSACTION
C. TC_ROLLBACK_BEFORE

D. TC COMMIT AFTER

Correct Answer: B

QUESTION 5

Which of the following statments are valid for Active and Passive Transformations? Choose 2 answers
A. A transformation is active if It rearranges the order of the rows in the pipeline

B. A transformation is active if it does not change the number of rows in the pipeline

C. Transformations can be active and passive at the same time

D. A passive transformation will not change the number of rows in the pipeline

Correct Answer: AD

Latest PRO00041 Dumps PR000041 Study Guide PR000041 Exam Questions

Latest PRO00041 Dumps | PRO00041 Study Guide | PRO00041 Exam Questions 3/3


https://www.pass2lead.com/pr000041.html
https://www.pass2lead.com/pr000041.html
https://www.pass2lead.com/pr000041.html
http://www.tcpdf.org
https://www.pass2lead.com/pr000041.html
https://www.pass2lead.com/pr000041.html
https://www.pass2lead.com/pr000041.html

